=
=]

Wrk284 4H 1H
R%294F 3H31H
(I fEEir4—19

R BRARKERAE 60

B
23]

f
£
LTINS

B
]

%Rf §§:§§§. =

SOOI GO OI OO
SRRSO IO IO IO OBIIOIIIOIOIIOOR



HigER

FR29% 3R3TARA

EEBEREH (B M)
® B LEE BT % W
I HEOH
1. RENEE
ReHES 39, 453, 191 0 39, 453, 191
* 1% & 4, 680, 804 0 4, 680, 804
& h & 2,343 0 2,343
FEAES 44,136, 338 0 44,136, 338
2. BEE&E
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# E:2 )] 1,110, 784 0 1,110, 784
+ 2 i ho) 438, 035 0 438, 035
ZTOMmBEEEEEH 1,548, 819 0 1,548, 819
EEEESE 1,548,819 0 1,548, 819
BEAS 45, 685, 157 0 45, 685, 157
I &E0%H
1. REBAR
* i £ 8, 404, 192 0 8, 404, 192
-] Y & 653, 874 0 653, 874
mEBaEaEH 9, 058, 066 0 9, 058, 066
2. BEaE
B OB # it 3 &% 2 27, 740, 000 0 27,740, 000
BExaEas 27, 740, 000 0 27, 740, 000
aEaE 36, 798, 066 0 36, 798, 066
I IEBREAEDER
1. ETEIEBKELE
R IEKBIE AR 0 0 0
2. —HRIEBREtE 8, 887, 091 0 8, 887, 091
EkEES 8, 887, 091 0 8, 887, 091
BERUVEKRMESE 45, 685, 157 0 45, 685, 157
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= bt = =1 ( 9, 659, 000) 0) 9, 659, 000)
Gl # 4,981,000 0 4,981,000

=3 * *® 4,678, 000 0 4, 678, 000

7 Bh = # 375, 000 0 375,000
% B £ & % [ 55, 883, 0231 0] 55, 883, 023]
E # By il 14, 243,373 0 14,243,373
7 H B & 21,131,000 0 21,131, 000
By F B OB £ @ B 2 20, 508, 650 0 20, 508, 650
- a # Eo [ 1,291, 900] 0] 1,291, 900]
il By H & iz % 1,291, 900 0 1,291, 900
= i ES B B [ 10, 529, 997] 0] 10, 529, 997]
B ¥ F 5 2 ® £ T & 4,678, 000 0 3, 248, 000
2 B B ¥ = moE R £ ( 5,681, 997) 0) 5, 681, 997)
2 0 E H ¥ £ ® 2 2,136,176 0 2,136,176
FHRMEMNER BEE e 725,216 0 725,216
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i =1 x ;] = 3,827,360 0 3,827,360
A H B i & 1,858, 002 0 1, 858, 002
2 T o} X # 4,938,082 0 4,938, 082
= S & # =1 3,168, 460 0 3,168, 460
o b=3 & & 634, 371 0 634, 371
£ 5 . % E: & 2,331,870 0 2,331,970
3 23 & 47,057 0 47,057
/N & =) = # 706, 774 0 706, 774
# Bl & 9,304, 522 0 9, 304, 522
® <P -1 208, 224 0 208, 224
= & # 1,136, 106 0 1,136,106
® f% # 60, 555 0 60, 555
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53 #h B 34 & 1,791,610 0 1,791,610
- i & A & 3,262 0 3,262
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M & 907,570 0 907,570
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BB O O 3 % £ R OA [ 7,237, 466] 0] 7,237, 4661
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(2) BENER
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